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ghlk; 3 
 

Present Simple Tense of Verb ‘to Be’ 
 ‘to   be’ vd;w tpidr; nrhy;ypd; vspikahd epfo; 

fhyk; 
 

 ‘to be’ vd;w tpidr; nrhy;> Mq;fpy nkhopapYs;s kpf 
Kf;fpa tpidr; nrhy;yhFk;. ‘He’ vd;w nrhy;iy Mz; ghy;> 
xUikf;F kl;LNk gad;gLj;JNthk;. mNj Nghy> ‘She’ vd;w 
nrhy;iyg; ngz; ghy;> xUikf;F kl;LNk gad;gLj;JNthk;.  

m/wpiz xUikg; ngah;r; nrhy;Yf;F ‘It’  vd;gijg; 
gad;gLj;j Ntz;Lk;.  
 

vdNt> vy;yh tpyq;FfSf;Fk; nghUl;fSf;Fk; ‘It’  vd;gJ 
gad;gLj;jg;gLfpd;wJ. Mz;fSf;Fk; ngz;fSf;Fk;> 
gpuhzpfSf;Fk;> nghUl;fSf;Fk; gad;gLj;jg;gLk; gd;ikr; 
nrhy; ‘They’ . 
 

 ‘to be’ vd;w tpidr; nrhy;> gpd;tUk; tpjj;jpy; khw;wkilAk;. 
  
mjhtJ>  ‘to be’ vd;w tpidr; nrhy;ypd; tpid tbtq;fs; 
gpd;tUkhW: 
 

 

      Regular Form                      Contracted  Form 
 xOq;FKiwg;gl;l tbtk;   RUf;fg;gl;l tbtk;  

  I am          I’ m 
  You are        You’re 
  He is                 He’s 
  She is          She’s 
  It is            It’s 
  We are          We’re 
  They  are          They’re 
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Mq;fpy nkhopapy; vOJk;NghJ> toikahf> RUf;fg;gl;l 

tbtj;ijNa ehk; cgNahfpf;fpd;Nwhk;. ePq;fs;> ‘I am’  vd;W 
vOjpdhYk;> ‘I’m’  vd;W vOjpdhYk;> ,uz;LNk xd;W jhd;@ 
,uz;LNk rhpahdit jhd;. ve;j tbtk; cq;fSf;F 
,yFthf ,Uf;fpd;wNjh> me;j tbtj;ij ePq;fs; njhpT 
nra;J> gad;gLj;jyhk;.  
 


